
7WORKSHEET : 9 

CH:2 [ FUN WITH NUMBERS ] 

Q.1  Radhika, Gauri, Vicky, Indra and Sunil were collecting Limit 

(Tamarind) Seeds. 
________ collected the most seeds. 

Sunil will collect __________ more seeds to be equal Vicky. 
 
If Radhika gets 6 more seeds, she will have _____________ . 
 
 How many children have more than 40 seeds? _____________ 
 
___________ needs 3 more seeds to have 50. 
 
Sunil has 2 seeds less than 40 and ______________ has 2 seeds more 
than 40. 



 
 

Q.2. Fill ups :- 

C.K. just missed his century. How many runs did he need to make a 
century?_____________ 
 
_________ and _________ scored almost equal runs. 
 
 
 _________ scored a complete century, no less, no more. 
 



 
 Most runs scored by any batsman are ____________. 
 _____________ scored 2  more than one and a half century. 
  
[ NOTE : CENTURY= 100 RUNS ] 
 
Q.3. Fill in the blanks: 
 

Number (in 

figures) 
Number (in words) 

Number (in 

figures) 

Number 

(in 

words) 

99 Ninety-nine 195      ❓ 

100                ❓     ❓ 

One 

hundred 

ninety 

six 

     ❓ One hundred one 197     ❓ 

102                  ❓     ❓ 

One 

hundred 

ninety 

eight 

       ❓ One hundred three 199   ❓ 

       ❓ One hundred four       ❓ 
One 

hundred 

105                  ❓ 201    ❓ 



106 One hundred six      ❓ 

One 

hundred 

two 

107 One hundred seven 203  ❓ 

        ❓ One hundred eight 204       ❓ 

 

109                 ❓         ❓ 

One 

hundred 

five 

      ❓ One hundred ten 206     ❓ 

111            ❓   

     ❓ One hundred twelve    
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